1. Выполните действия

( -0,8 *1,2 +1,06) : ( -0,5) – ( -30,15 : 15 + 0,91)*(-2,4)

	
	
	
	
	
	
	

	-2,01
	2,64
	-0,96
	- 0,2
	- 1,1
	0,1
	- 2,84


2. Составь быстрее слово, выполнив действия:

1 группа

1. - 57 : (-19) =  … (Е)

2. 14,31 : (- 2,7) = … (Г)

3. 
[image: image1.wmf]4

3

2

8

3

1

¸

-

= … (У)

4.  - 5,7:10= … (О)

5. 165,9: (- 100)= … (Р)

6. - 57,9: (-1000)= … (Ц)

	
	
	
	
	
	

	-0,57
	-5,3
	- 
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	-1,659
	3
	0,0579


3.Решить уравнение:

1. (8х + 4 )(5х- 10) =0

2. (2у – 7)(2у - 4)=0

3. (5у – 20)(3у – 9)=0

	Т
	К
	И

	2; 2; 3
	-0.5 ; 3,5; 4
	


1. Выполните действия

( -0,8 *1,2 +1,06) : ( -0,5) – ( -30,15 : 15 + 0,91)*(-2,4)

	
	
	
	
	
	
	

	-2,01
	2,64
	-0,96
	- 0,2
	- 1,1
	0,1
	- 2,84


2.

2 группа

1. 1,2 * (-4) = … (Е)

2. – 11 * (-12) = … (Г)

3. 
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4. 0,38*(- 100)= … (О)


5. - 0,625*10=… (Р)


6. - 14,23*1000= … (Ц)

	
	
	
	
	
	

	-38
	132
	2
	-6,25
	-4,8
	-14230


3.Решить уравнение:

1. (8х + 4 )(5х- 10) =0

2. (2у – 7)(2у - 4)=0

3. (5у – 20)(3у – 9)=0

	Т
	К
	И

	2; 2; 3
	-0.5 ; 3,5; 4
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